Tableaux des Puissances de Dix (F)

Multipliez le nombre de la rangée par celui de la colonne.
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Tableaux des Puissances de Dix (F) Solutions

Multipliez le nombre de la rangée par celui de la colonne.

X 0,06 0,6 0,0006 0,006
98 5,88 58,8 0,0588 0,588
32 1,92 19,2 0,0192 0,192
22 1,32 13,2 0,0132 0,132
4 0,24 2,4 0,0024 0,024
53 3,18 31,8 0,0318 0,318
X 0,0008 0,08 0,008 0,8
87 0,0696 6,96 0,696 69,6
90 0,072 7,2 0,72 72
66 0,0528 5,28 0,528 52,8
92 0,0736 7,36 0,736 73,6
68 0,0544 5,44 0,544 54,4
X 0,9 0,009 0,0009 0,09
93 83,7 0,837 0,0837 8,37
72 64,8 0,648 0,0648 6,48
13 11,7 0,117 0,0117 1,17
10 9 0,09 0,009 0,9
70 63 0,63 0,063 6,3
X 0,5 0,05 0,005 0,0005
87 43,5 4,35 0,435 0,0435
56 28 2,8 0,28 0,028
41 20,5 2,05 0,205 0,0205
8 4 0,4 0,04 0,004
43 21,5 2,15 0,215 0,0215
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